ABC PUBLIC SCHOOL

PRE TEST -11
SESSION —2024-2025
CLass—1III (A +B) M.M.: 50

Note:- Marking scheme are as like (No. of questions x Marks = Total Marks.)

COMPUTER

SECTION - A (20 Marks)
Q. 1 Choose the correct option : [5x1=5]
Q. 2 Fill in the blanks : [5x1=5]
Q. 3 Write True Or False : [5%1= 5]
Q. 4 Match the following : [5%1= 5]

SECTION - B ( 15 Marks)
Q. 5 Write the fullforms: [5x1= 5]
Q. 6 Re-arrange the letters : [4x1= 4]
Q. 7 Answer the following questions in word form : [3%2= 6]

SECTION C ( 15 Marks)

Q. 8 Answer these questions (Any 4 ) : [4%x3=12]
Q. 9 Draw any 1 diagram of web browser and colour it: [1x3= 3]
ENGLISH
Literature
Quel- Word meaning. 5x1=5
Que2- Make sentence. 5x1=5
Que3- Put a (\/) or a (x) against the following statements. 5x1=5
Qued4- Choose words from the box and fill in the blanks. 5x1=5
Que5- Answer these questions. 5x1=5
Grammar
Quel- Complete the sentences using simple present tense of the given verbs. 5x1=5
Que2- Underline the adverbs in the sentences. 5x1=5
Que3- Fill in the blanks using and, or, but or because. 5x1=5
Que4- Underline the prepositions in these sentences. 5x1=5

Que3- Re-write the sentences using the simple past tense. 5x1=5
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Fill in the blanks:
True and false:
Write the measure of the following object:
Word problems:
Match the following:
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SOCIAL STUDIES

Multiple Choice Question:
Fill in the blanks:

True or False:

Give one-word answers:
Short answer questions
Long answer question:
Map:

SCIENCE

Multiple choice questions.

Fill in the blanks.

True or False.

Give one word answer.

Match the following.

Short answer questions (Any five).
Long answer questions (Any two).
Diagram.

(10x1=10)
(10x1=10)
(5x1=5)
(5x1=5)
(10x1=10)
(10x1=10)

3x1=3
4x1=4
3x2=6
12x1=12

3x2=6
9x1=9
5x1=5
1x5=5

(10 x 1=10)
(5x1=5)
(5x1=5)
(5x2 = 10)
(2x2=4)
(4x3=12)
(1x4 = 4)

(10x1=10)
(5x1=5)
(5%1=5)
(5%1=5)
(5%1=5)
(5%2=10)
(2x3=6)
(1x4=4)



